*Write down its ac yoltage pain .
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b) Draw the small signal low frequency circuit model of 2 common drain n-channel
MOSFET , and wuse it 10 calculate the yoltape gain when
R |Ry==Q Ry R, ,and R, are finite.
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Q2 Given the 1wo-stage amplifier shown
oppositec  with  the following

informauon. Tygi=32pu4,

l4,,= 20 yA  Furhermore , for
both transistors, Pa= Puc = f =99,
Fi = 25 mV and V', = el |

Calculate the overall yoltage gain
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Q3) a) Given the €reunt shown

1) Classify the circuj hr'
UL using the fo)) >
abbrewahma which fit the c:::':::::mg words and ~

PMOSFET nMOSFE
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1) Derive the relationship which gives the @

Surrent gain defined as 4, = 1
[l f :
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b) In an mpa transistor amplifier circut involving coupling and bypass capacitors, and

operated at high frequency.

1)What capacitances account for the high frequency response?

t'kt, 1,n|.¢rnau\ (’a_‘h_(”‘ﬂﬂ(f‘j G‘é. " he ransiSter CﬂQ\J C;“

1i)What capacitors account for the low frequency response” @
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Q4

i POWERGUNIT

circutt shown, where

a) consider the
=2uF . U the

R =5K R, = K0, C =4pF . C,
method of approximale umc constants applies, usc it 10 calculate v,
f, and f, - Hence. or otherwisc, calculate the midband ~ gain.
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b in short ci o en by A 0.05-; 10"f
1 =
) A particular transistor r circuil currenl gain 18 g y A, 0.0005 + lO'"f
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Represent A, in the form Ak=-—-—-7-‘—- What are the valuesof K ./, . and /,
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Draw the Bode diagram. Don't draw the phase plot
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